S. B. B. Alias APPASAHEB JEDHE ARTS, COMMERCE & SCIENCE COLLEGE, PUNE 02.

TERM END EXAM - 2017 - 2018
SUBJECT :- INDIAN & GLOBAL ECONOMIC DEVELOPMENT

T.Y.B.Com. Time -2 hrs.

Marks - 60

Instructions - 1) All Question carry equal marks.

2) Figures to the right indicate full marks.

Q.1 Answer the following questions in 20 words. (Attempt Any Seven) 14

1)
2)
3)
4)
5)
6)
7)
8)
9)

Is Indian economy is emerging economy?
What do you mean by per capita income?
What do you mean by Agricultural marketing?
What do you mean by minimum support price?
What do you mean by infrastructure?

What do you mean by industrialisation?

What do you mean by rural indebtness?

What do you mean by public sector?

What do you mean by private sector?

10) What do you mean by economic growth?

Q.2 Answer the following questions in 150 words. (Attempt Any Two) 8

1)
2)
3)
4)

State two characteristics of emerging economy like Indian economy?
State two constraints in agricultural development?

Explain features of industrial policy - 1991.

State two problems of Agricultural marketing in India.

Q.3 Answer the following questions in 150 words. (Attempt Any Three) 18

1)
2)
3)
4)

)

Explain the role of small scale industry in Indian economy.

Explain the causes of rural indebtness in India?

Explain the an importance of infrastructure in economics development in India.
Explain the comparison to developed economics with respect to per-capita income,
and national income.

Explain the role of public section in economics development.

Q.4 Answer the following questions in 500 words. (Attempt Any One) 20

1)

2)

Explain the place or role of Agriculture in the Indian economy.
OR
Explain the role of industrialisation in the Indian economy.
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